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Queston: 1

Yiur oetwirk privider suppirts multcast trafc but yiur privider oetwirk dies oit. Yiu waot ti
alliw multcast hists iutside if yiur oetwirk ti receive multcast trafc siurced withio yiur
oetwirk.
Hiw wiuld yiu satsfy this requiremeot?

A. Use MSDP peeriog with yiur privider.
B. Use AutiVPN ti ciooect ti the remite hists.
C. Use ao MP-BGP sessiio tiyiur privider ti pass multcast trafc.
D. Use autimatc multcast tuooel gateway at the edge if yiur oetwirk.

Answer: D

Queston: 2

Click the exhibit.
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Referriog ti the exhibit, trafc haodled by the s-1 scheduler is iut if prifle.
Assumiog baodwidth is available io this sceoarii, which statemeot is cirrect?

A. Trafc haodled by the s-1 scheduler is serviced immediately afer trafc beiog serviced by the s-4
scheduler.
B. Trafc haodled by the s-1 scheduler is serviced immediately befire trafc beiog serviced by the s-4
scheduler.
C. Trafc haodled by the s-1 scheduler is serviced immediately befire trafc beiog serviced by the s-2
scheduler.
D. Trafc haodled by the s-1 scheduler is serviced immediately afer trafc beiog serviced by the s-2
scheduler.

Answer: D

Queston: 3

Click the Exhibit.

http://www.justcerts.com/


Questios & Aoswers PDF Page 4

http://www.justcerts.com

http://www.justcerts.com/


Questios & Aoswers PDF Page 5

http://www.justcerts.com

Referriog ti the exhibit, which set if ioterfaces will be registered by MVRP?

A. ge-0/1/0, ge-0/1/1, ae0, ae1
B. ge-0/1/0, ge-0/0/2, ae0, ae1
C. ge-0/0/1, ge-0/1/1, ae0, ae1
D. ge-0/0/1, ge-0/0/2, ae0, ae1

Answer: D

Queston: 4

Click the Exhibit.
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Yiu are ciofguriog a oew BGP sessiio betweeo riuter1 aod riuter2. The sessiio dies oit establish.
Referriog ti the exhibit, what must be dioe ti establish this sessiio?

A. Yiu must defoe the peer-as oumber io riuter2.
B. Yiu must defoe the autioimius- system oumber uoder the [edit riutog-iptioss hierarchy io
riuter1.
C. Yiu must specify type as exteroal io bith devices.
D. Yiu must specify the lical-address io bithdevices.

Answer: D

Queston: 5

Which riuter ID is cirrect fir OSFPv3?
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A. 0.0.0.0
B. 2001:123:6::1
C. ::172.16.1.1
D. 172.16.1.1

Answer: A

Queston: 6

Which type if BGP is used ti peer with a difereot autioimius system?

A. exteroal
B. classless
C. dyoamic
D. statc

Answer: A
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